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23 | Calculation completed correctly as shown: m
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13 written in both boxes as shown: The correct number must be written in
both boxes for the award of the mark,
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Number sentence completed as shown:
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Refer to general marking principle 9 on
page7.
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Qu. | Requirement

12 | Number sequence complsted as shown: m | Allthree numbers must be comrect and in
the order shown for the award of the mark.
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Award TWO marks for number patterns

completed as shown:
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Award ONE mark for any two correct

numbers.
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31 | Award TWO marks for both numbers correct
as shown:

20 70
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Award ONE mark for one number correct.

1m
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@ Writes any two numbers that 1 Accept 0 in one of the boxes.
total 70, eg

350 + 50 + 20 = 420

A number must be written in each bo for
the award of the mark.
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22 Completesall four calculations correcty,
using the numbers 46 and 54 as shown:

Completes three out of four calculations.
conecty

or

Award both marks for the correct answer
by entering 1 in each mark box.

1f one mark s awarded, enter 1 then 0 in
the mark boxes.
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15 | Both numbers correct as shown: 1m | Both numbers must be correct for the
‘award of the mark.
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